
Answer on Question #76159 – Math – Statistics and Probability 

Question 

In a sample survey, six estimates were made of the same mean. When the population mean became 

known, the following errors were computed: -35, 111, -88, 47, -12, 26. are these errors consistent with 

the hypothesis that the population of errors has a zero mean?  

Solution 

 𝑥̅ =
1

6
∑ 𝑥𝑖 =6

𝑖=1 8.17. 

 𝑠 = √
1

5
∑ (𝑥𝑖 − 𝑥̅)26

𝑖=1 = 69.16 

Null hypothesis 𝐻0:  𝜇 = 0. 

Alternative hypothesis 𝐻𝑎:  𝜇 ≠ 0. 

Test statistic:  𝑡 =
𝑥̅−𝜇

𝑠/√𝑛
=

8.17−0
69.16

√6

= 0.29.  

P-value:  𝑝 = 0.7835. 

Since the P-value is greater than 0.05 we fail to reject the null hypothesis and 

should conclude that these errors consistent with the hypothesis that the 

population of errors has a zero mean. 

Answer: These errors consistent with the hypothesis that the population of errors 

has a zero mean. 
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